Uses of Slide-A-Round 1,000,000X

	Which number below is more than 5,125,915 but less than 5,195,758?
○ 5,110,721
○ 5,295,618
○ 5,135,103
○ 5,201,135

	Round each number to the nearest million.
7,648,123 __________________

9,721,245 __________________

1,328,985 __________________
4,818,719 __________________
	“Lucky Paul” won $10,000,000 in a sweepstakes. He immediately spent $20,000 on an exotic safari in Africa. How much does he have left?
○ $9,980,000
○ $9,920,000
○ $10,020,000
○ none of the above


	Identify these numbers in order from greatest to least. 
(7,313,105 – 7,643,199 – 7,710,171 – 7,199,136)

○ 7,643,199 – 7,710,171 –  7,313,105 –    7,199,136
○ 7,710,171 – 7,643,199 – 7,199,136 – 7,313,105
○ 7,710,171 – 7,643,199 – 7,313,105 – 7,199,136
○ 7,199,136 – 7,313,105 – 7,643,199 – 7,710,171
	Which number below is less than 6,783,125 but more than 6,481,301?
○ 6,581,917
○ 6,617,378
○ 6,400,917
○ two choices are correct

	Frank City has 5,550,110 people who live there. Bell City has 5,499,198 people. When rounded to the nearest million, which city appears to have more people?
   ○ Bell City
   ○ Frank City

	What is the next number after 7,899,999?
   ○ 7,899,990
   ○ 7,899,001
   ○ 8,000,000
   ○ 7,900,000
	What is the smallest number given below?
○ 1,680,771
○ 1,660,899
○ 1,606,976
○ 1,696,010
      
	Round each number to the nearest million. 

7,999,753→_________________

3,443,518→_________________

1,328,901→__________________

9,118,740→_________________

	Which number is more than 125,839, but less than 190,758?

○ 120,780

○ 287,038

○ 100,834

○ 168,139
	Alex’s new house cost $197,999. Approximately how much did he spend?

○ $190,000
○ $100,000
○ $200,000
○ $195,000
	6,721,830□□6,910,308
Which two numbers could go in the empty boxes?

      ○ 6,283,315     6,601,199
      ○ 6,701,117     6,708,391
      ○ 6,738,131     6,810,317
      ○ 6,820,918     6,980,911       


